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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 



 [ 2 ] MSW–15 

 (B-80) 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by absenteeism ? What are its 

causes and how can it be minimised ? 

vuqifLFkfr ls vki D;k le>rs gSa \ blds D;k dkj.k gSa 

vkSj bls dSls de fd;k tk ldrk gS \ 

2. What is the concept of automation ? What does it 

affect the labour ? 

Lopkyuhdj.k dh D;k vo/kkj.kk gS \ ;g Je dks fdl 

izdkj izHkkfor djrh gS \ 

3. Describe the provisions relating to health and safety 

under the Factories Act, 1948. 

dkj[kkuk vf/kfu;e] 1948 ds vUrxZr LOkkLF; ,oa lqj{kk ls 

lEcfU/kr izko/kkuksaa dk o.kZu dhft,A 

4. Throw light on the Payment of Bonus Act, 1965. 

cksul Hkqxrku vf/kfu;e] 1965 ij izdk’k Mkfy,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

Briefly discuss the following : 

fuEufyf[kr dh la{ksi esa ppkZ dhft, % 

1. Labour turnover 

JekorZ 

2. Classification of labour welfare 

Je dY;k.k dk oxhZdj.k 

3. Objectives of worker‟s education 

Jfed f’k{kk ds mís’; 

4. Environmental safety 

i;kZoj.k lqj{kk 

5. Significance of social security 

lkekftd lqj{kk dk egRo 

6. Definition of wages under the Payment of Wages Act, 

1936 

etnwjh Hkqxrku vf/kfu;e] 1936 ds vUrxZr etnwjh dh 

ifjHkk”kk 

7. Meaning of plantation 

ckxku dk vFkZ 

8. Benefits under the ESI Act, 1948. 

deZpkjh jkT; chek vf/kfu;e] 1948 ds vUrxZr ykHk 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. “Adult” under the Mines Act, 1952 means a person 

who has completed his eighteenth year. (True/False) 

[knku vf/kfu;e] 1952 ds vUrxZr ßizkS<+Þ dk vFkZ ml 

O;fDr ls gS ftlus viuh vBkjg o”kZ dh vk;q iw.kZ dj yh 

gSA    ¼lR;@vlR;½ 

2. Militant Trade Unions are not a type of trade unions.  

(True/False) 

yM+kdw Jfed la?k Jfed la?k dk ,d izdkj ugha gSA 

    ¼lR;@vlR;½ 

3. Any factory ordinarily employing 500 or more workers 

is under obligation to employing welfare officer.  

     (True/False) 

fdlh dkj[kkus ds fy, tgk¡ lkekU;r;k 500 ;k vf/kd 

Jfed lsok;ksftr fd;s tkrs gS] dY;k.k vf/kdkjh dh 

fu;qfDr djuk ck/;dkjh gSA   ¼lR;@vlR;½ 
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4. Payment of Wage period can be extended beyond one 

month.   (True/False) 

etnwjh Hkqxrku dh vof/k ,d eghus ls vf/kd c<+kbZ tk 

ldrh gSA   ¼lR;@vlR;½ 

5. The term of the office of the Presiding Officers of 

Employees‟ Provident Funds Appellate Tribunal is 

four years.  (True/False) 

deZpkjh Hkfo”; fuf/k vihyh; fVªC;wuy ds ihBklhu vf/kdkjh 

ds in dk dk;Zdky pkj o”kZ gSA  ¼lR;@vlR;½ 

Choose the correct answer : 

lgh mŸkj dk pquko dhft, % 

6. Labour comes under the : 

(a) Union list 

(b) State list 

(c) Concurrent list 

(d) None of these 

Je lfEefyr gS % 

¼v½ la?k lwph esa 

¼c½ jkT; lwph esa 

¼l½ leorhZ lwph esa 

¼n½ buessa ls fdlh esa ugha 

7. „Equal pay for equal work‟ finds a mention in Article 

......... of the Constitution of India. 

(a) 38 

(b) 39 

(c) 40 

(d) 41 
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Hkkjrh; lafo/kku ds vuqPNsn 
----------------- 

esa ^leku dk;Z ds fy, 

leku osru* dk mYys[k gSA 

¼v½ 38 

¼c½ 39 

¼l½ 40 

¼n½ 41 

8. The headquarters of Central Board for Workers* 

Education in situated in : 

(a) Delhi 

(b) Nagpur 

(c) Pune 

(d) Chennai 

dsUnzh; Jfed f’k{kk cksMZ dk eq[;ky; 
-----------------

 essa fLFkr gSA 

¼v½ fnYyh 

¼c½ ukxiqj 

¼l½ iw.ksZ 

¼n½ psébZ 

9. The provision for Creche facility under the Factories 

Act, 1948 has been made for factories ordinarily 

employing .............. women workers. 

(a) 50 

(b) 100 

(c) 20 

(d) 30 
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dkj[kkuk vf/kfu;e] 1948 ds vUrxZr fdlh dkj[kkus esas 

ftleas lkekU;r;k 
-----------------

 efgyk Jfed lsok;ksftr gksrs gSa] 

Øp ¼f’k’kq lnu½ dh lqfo/kk iznku dh tkrh gSA 

¼v½ 50 

¼c½ 100 

¼l½ 20 

¼n½ 30 

10. The rate of interest on EPF for the financial year 2016-

17 has been fixed : 

(a) 8.80% 

(b) 8.85% 

(c) 8.65%  

(d) 8.70% 

deZpkjh Hkfo”; fuf/k ij foŸkh; o”kZ 2016&17 ds fy, C;kt 

dh nj fu/kkZfjr dh xbZ gS % 

¼v½ 8.80% 

¼c½ 8.85% 

¼l½ 8.65% 

¼n½ 8.70% 
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